PR No:	329819
RFQ No:	45796

## ADVERTISED TENDER No: : 17/2017-18

SUPDT.ACCTT. (Exp)

Name of Work : Tender for work of laying aerial bunch cable with fitting of all accessories as per side requirement under DDUGJY Scheme at IQBALGADH-I sub division under Palanpur DO- 2 .

Estimate cost.	Rs. 494870/-
Earnest Money.1%	Rs. 5000.00 in form of Demand Draft of nationalized bank
Security Deposit.	5% of Order value
Last Date of document received	Date: 24-10-2017 On 15.00 Hrs. (By RPAD)
Date of opening the tender at	Date: 25-10-2017 On 15.00 Hrs. (If Possible )
Type of tender	Percentage Rate.
Tender Fee	Rs. 500+18% GST
Time Limit.	12 month

Tender fee & Earnest money deposit will be accepted in cash or by demand draft on any schedule bank at Palanpur in favors of "UTTAR GUJARAT VIJ COMPANY LIMITED", cheques or Bank guarantee will not be accepted.

NOTE: This is online tender and put at www.nprocure.com site so fill on line and must send tender through RPAD. Tender received through RPAD only will be accepted.

**EXECUTIVE ENGINEER** 

UGVCL, DO-2, PALANPUR .			UGVCL, D	O-2, PALANPUR.
	To be filed in the Tender.			
(1)	Tendered Value :			
	(To be filed by the Contractor)	Rs		
(2)	Earnest Money Deposit			
	Paid vide DD No.	Date	Rs	Times of the control
(3)	GST No			
	Date:			



Division Office: Palanpur Division-2 Highway Char Rasta, Palanpur-385 001 Phone No: (02742)255456

## **SCHEDULE: B**

Name of Work: - Tender for work of laying aerial bunch cable with fitting of all accessories as per side requirement under DDUGJY Scheme at IQBALGADH-I sub division under Palanpur DO- 2.

Sr. No.	Description of works	Estimate Quantity	Unit	Tendered rate		Total Amount
				In figure	In Words	
1	2	3	4	5	6	7
1	ERECTION OF POLES INCLUDINGEXCAVATION OF PIT AND REFILLING OF EARTH, FIXING OF CROSS ARMS, TOP FITTING CLAMPS ANTI-CLIMBING DEVICES, INSULATORS ETC. COMPLETE AND PAINTING OF FABRICATEDMATERIALS USED ON THE POLES AND NUMBERING WITH COST OF PAINT AS PER STANDARD SPECIFICATION BUT EXCLUDINGERECTION OF GUY SET AND EARTHING.			7	G	
	(A) PSC POLE 8 MTR. LONG 140 KG./200 KG.	60	NO.	675.00	Rupees Six hundred Seventy Five Only	40500.00
	(B) ERECTION OF RSJ 12 MTR POLE	6	NO.	1120.00	Rupees One Thousand One hundred Twenty Only	6720.00
	(C ) PSC POLE 10 MT LONG 270 KG.	10	NO.	1815.00	Rupees One Thousand Eight hundred Fifteen Only	18150.00
2	Erection of Stay set Complete as per drawing and specification with stay clamps, stay wire, turn buckle, guy insulators and cement blocks.	50	NO.	315.00	Rupees Three hundred Fifteen Only	15750.00
3	Laying of AERIAL BUNCHED XLPE CABLE 2X25 + 1x16 SQ. MM with fitting of all Special Accessories	15	km	4400.00	Rupees Four Thousand Four Hundred Only	66000.00
	Special Accessories for AB Cable					
А	Self tightening anchoring (Dead end) clamp with pole bracket using Stainless Steel Strap & Buckle with supply	150	NO.	135.00	Rupees One Hundred Thirty Five Only	20250.00
В	Self locking Suspension Clamp with pole bracket using Stainless Steel Strap & Buckle with supply	500	NO.	150.00	Rupees One Hundred Fifty Only	75000.00
С	Pre Insulated mid span joints for phase & neutral for 16 sq mm to50mm2 with supply	20	NO.	135.00	Rupees One Hundred Thirty Five Only	2700.00

Regd. & Corporate Office: Visnagar Road, MEHSANA – 384 001 (North Gujarat) Website: www.ugvcl.com e-mail: <a href="mailto:corporate@ugvcl.com">corporate@ugvcl.com</a>

Telephone: (02762) 222080-81 Fax: (02762) 223574



# Uttar Gujarat Vij Company Ltd.

Division Office: Palanpur Division-2 Highway Char Rasta, Palanpur-385 001 Phone No : (02742)255456

D	Stainless Steel of Size Strap 20mm*0.7mm & Buckle width 20 mm	1200	NO.	38.00	Rupees Thirty Eight Only	45600.00
	with supply  Erection, testing and Commissioning of Insulation Piercing Connector type -I & type-II using mechanical & weather resistant plastic insulation material,					
E	corrosion resistant metallic parts etc suitable for following Cables as per technical specification, approved drawing & scope of works:  AERIAL BUNCHED XLPE CABLE 2X25	3300	NO.	60.00	Rupees Sixty Only	198000.00
1	+ 1x16 SQ. MM. with supply					
4	DISMENTALING OF CONDUCTOR FROM LINE 34/55 MM2	10	NO.	620.00	Rupees Six Hundred Twenty Only	6200.00
	REMARKS.  (1) THE RATES ARE EXCLUSIVE OF BOLTS, NUTS, SPLIT BOLTS FOR EARTHING, WASHER, BARBED WIRE. THE UGVCL WILL PROVIDE ABOVE MENSIONED MATERIAL. IF NOT PROVIDED THAN CONTRACTOR HAS TO UTILIZE THE SAME FROM THEIR END AND ON PRODUCTION OF BILLS THE SAME WILL BE PAID SEPARATELY.  (2) TIME LIMIT 12 MONTHS.  (3) STORE CENTER WILL BE AT DEESA STORE  (4) RATE OF MATERIAL PURCHASE BY CONTRACTOR FOR REIMBURSEMENT ARE AS PER SOR RATE OR CURRENT				G	
	RATE WHICH IS LOWER TOTAL	/				494870.00

The rates quoted are	
Note: - Work to be carrie	d out as per site <mark>situ</mark> ation & instruction of Engineer In charge.
	Executive Engineer
	UGVCL, DO-2, PALANPUR.
Contractor's signature w	th seal.
Date:	

**GENERAL INSTRUCTION TO TENDERERS** 

- 1 Sealed Tenders are invited for the Tender for work of laying aerial bunch cable as per side requirement under IPDS Scheme at IQBALGADH sub division under Palanpur DO- 2 from the contractors/firms who have executed works of similar nature and magnitude.
- 2 Technical bid is to be submitted in a separate sealed envelope and supper scribing the envelope as "Technical Bid". Technical bid should be submitted with documents as under, failing which tender is liable for rejection.
  - a) Solvency certificate issued from any Nationalized Bank amounting to sum equivalent of estimated cost(Minimum 10.0 Lacks)
  - b) Separate EPF code No. allotted by RPFC & Last Six month of current year EPF Challan paid copy is required.
  - c) Latest income tax clearance certificate.
  - d) Experience certificate appropriate tender work.
  - e) Group Insurance copy of the insurance policy of the insured laborer's under W.C. Act.
  - f) Details of equipments available with the tendered.
  - g) Electrical contractor license as a when required.
  - h) Tools & tackle Certificate.
  - i) Proof regarding payment of Tender Fee and EMD. The above supplementary documents should be submitted in form of attested true copies.
  - j) Bidder quoting for the bid shall have valid registration in A/B class with UGVCL /GUVNL & its subsidiary companies.
  - k) GST Registration certificate and No.
  - 3 Earnest money deposit of Rs. <u>5000</u> should be deposited in cash or submitted in form of Demand Draft in favor of UTTAR GUJARAT VIJ COMPANY LIMITED drawn on any scheduled Bank, payable at par.

Division Office: Parampur Division-2 Highway Char Rasta, Parampur-385 001 Phone No : (02/42)255456

- 4 Bidders should complete the tender documents in all respects and they are to be signed with Company's Seal on all pages.
- 5 The bidders shall submit their offer without any deviations in general terms and conditions of the contract or in Technical specification/items. Tenders of such departing may also be rejected. Incomplete and conditional tenders shall not be considered.
- 6 UTTAR GUJARAT VIJ COM.LTD. Reserves the right to split up the work covered in the scope of this contract amongst more than one contractor.
- 7 The rates shall be quoted both in words and figures as per unit specified in schedule-'B' and it should be sticker by the transparent cello tape. In case of any discrepancy between the rates quoted in words & figures, rate quoted in words will prevail.
- 8 Intending bidders should submit their tenders after studying all tenders documents carefully and visiting the site for satisfying themselves of actual site conditions, location and accessibility of site and nature, extent of the work involved etc. Submission of tenders implies that bidders have obtained all necessary.
- 9 Information and other data required for executing the work. No claim for extra charges on account of any misunderstanding or otherwise will be allowed.
- 10 All approaches to the site shall be in the scope of bidders.
- 11 Bidders will not be allowed to give sub-contract of the works awarded to him for any, reasons what so ever without permission of the Engineer-in charge.
- a. In the experience certificate, contractor has to furnish the details of similar works executed by him along with the list of equipment, tools and tackles and manpower available with him along with the details of the same, which he intends to deploy on site of the work.
- 12 After opening of "Technical bid" no revised price bid from any bidders will be accepted.
- 13 Price quoted shall be firm, till overall completion of the work, under contract and there will not be any price escalation.

- 14 Date of opening of "Price Bid" will be intimated later on to those Bidders who are qualified in technical bid. "Price bid" of only qualifying bidders on the basis of Technical bid shall only be opened. Price of bidders, who are not qualified technically as per requirement of technical bid shall not be opened.
- 15 Offers shall be valid for the period of 120 days from the date of opening of price bid. Tenders shall not withdraw tenders during the validity period, failing which their EMD shall be forfeited during the said period of 120 days.
- 16 Materials will be issued strictly as per requirement & not in lot
- 17 Concrete slabs will be supplied from our store.
- 18 "0.50 "ps. Per cu ft will be paid below the 2 feet or ground level for the rocky soil against the certificate of Dy. Engineer in charge/verification by concern D.E. tech of PLN-2 div.
- 19 Rs.50/- will be charged extra if tender will be sent by post.
- 20 Due care should be taken while doing the work, If any accident will occurred to your employee/personal while working than it will be your responsibility. Company will not be responsible for payment of any claims due to such accident.
- 21 Contractor should observe labour laws as per prevailing rules of Govt. of Gujarat.
- 22 Tree Branches should be trimmed such a way that distance of nearby conductor and trimmed branch must remain 5' Horizontal and 5' vertically.
- 23 Pin binding of Pin Insulator must be with double strand of conductor.
- 24 Each and every shackle pole must be rejumpered with formation of 'D'.
- 25 Old material removed from line (If any) must be credited in Divn. Store.
- 26 All tools, tackles used in maintenance will be provided by contractor.
- 27 Transportation of labour for the work should be done by contractor.
- 28 If necessary order of one S/Dn. will be transferred to other S/Dn. depending upon requirement of UGVCL.
- 29 The clearance as per I.E rules must be maintained.
- 30 For any dispute jurisdiction of legal will be at Palanpur.

31 If the Tenderer/Bidder/Contractor would stand lowest while opening of the tender, He will be intimated by the competent authority with separate letter & will have to provide their skilled Labours gang within week time & He would have to report in written through respective SDO. Otherwise Second lowest bidder will be given chance at the rate of lowest-1.

- 32 The contractor should have to keep permanently skilled Labours gang in respective Sub-Division for each annual order. If Concern SDO will report that Erection Work is delayed due to non-availability of skilled labour, penalty will be deducted a per rules.
- 33 All the works shall be carried out as per specifications attached with the tender and relevant Indian Standard issued by Bureau Indian Standards. All materials procured should be confirming to relevant Indian Standard issued by Bureau of Indian Standard.
- 34 Tenders, who do not fulfill all or any of the conditions of the tender of incomplete in any respect, are liable to rejection.
- 35 UTTAR GUJARAT VIJ COMPANY LTD, reserves the right to reject any or all Tenders without assigning any reason thereof.
- 36 Income Tax at prevailing Rate will be deducted as per Income tax Act.

#### 1. Taxes and Duties:

The prices are excluding GST and Cess as applicable which will be paid extra on a given taxable goods and/or services within the original contractual delivery period. The amount and % of GST and Cess as applicable should clearly be indicated separately. (GST/Cess means all applicable Tax/Cess under GST Laws. GST Laws means IGST Act, GST (Compensation to the State for Loss of Revenue) Act, CGST Act, UGST Act and SGST Act, 2017and all related ancillary legislations).

Supplier/Contractor should charge GST in Invoice at the rate as agreed to / mentioned in acceptance of tender only and any deviation in the same shall not be accepted. Further, any additional liability of GST (later on due to wrong mentioning of GST rate, mis-interpretation of HSN/SAC Code, etc.) over and above as charged in the invoice shall be borne by the Supplier/Contractor. However, any refund received by the supplier / contractor on account of GST charged from the company; such refund shall have to be passed on to the company, along with interest if any. Such refund along with interest needs to be passed on suo-moto by the supplier / contractor.

Division Office: Palanpur Division-2 Highway Char Rasta, Palanpur-385 001 Phone No: (02742)255456

Further, the Company has a right to recover the amount of GST along with penal interest at the rate of 15% per annum if GST charged is not paid / short paid to the government or fail to upload the details or uploads inaccurate particulars on GSTIN portal by the Supplier / Contractor within the stipulated time limit.

In case, Govt. revises the rate of GST rate / Code during the tenure of the contract, the provision of UGVCL's statutory variation clause shall apply.

## 2. STATUTORY VARIATION:

Any statutory increase or decrease in the taxes and duties including GST and Cess as applicable or in the event of introduction of new tax/cess or cessation of existing tax/cess subsequent to contractors offer if it takes place within the original contractual delivery date will be to COMPANY'S account subject to the claim being supported by documentary evidence. However, if any decrease takes place after the contractual delivery date, the advantage will have to be passed on to COMPANY.

### 3. PENALTY FOR LATE DELIVERY:

Penalty shall be @ 0.5% per Week or part thereof plus GST as applicable on delayed portion subject to maximum 10% plus GST as applicable of the delayed portion Order Value (End Cost with GST and Cess as applicable) in case of supply only, whereas in case of Projects, the ceiling shall be with reference to total contract value with GST and Cess as applicable of the project (Supply + Erection + Civil). For calculating the delayed portion, date of actual receipt of material at store shall be considered

Signature of contractor With seal

Executive Engineer UGVCL, PALANPUR, DIV-2.